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A /A + /B + 2C + /D + /E = 360° — 50° — 40° — 35° = 235°
ojt}.




O
)

B7]
wio] Zojo Wzke] 27)7} et
T

_g]

of %7} 10 el e},

oA

o=
U5
7_11-

-

%

A}
=]

,_._mo
~

@ Aol

299 A%t n Aol BE T o

s
=




S 183} Zo] AABC oA B &} £C 9
Qzto] o] SR wH& D gt T uf,

® 45° @ 50° @ 55°

@ 60° @65°

/ABC 4 /BCA = 180° - A =130°
(EBC + /FCB = 360° - 130° = 230°
(DBC + /DCB =230°+2=115°

.. /BDC =180°-115°=65°
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@ 50° @ 45° @ 40° @35° ® 30°

70° + 2/a = 24b

(b= /x+ La

70° + 22a = 2(Lx + La) = 2/x+ 22a
2/x = 70°

Lo Lx = 35°
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@ 10 @ 35 @45 @ 50 ® 55
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a=10

Ol

b=10x =35

Sa+b=10+35=45

(10 -3)
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8. TF I™ANA sx+ 2y o] A7=?

@® 60° @ 65° ®)70° @ 75° ® 80°

(ADO = /x + 50°

LADO + 20° = 140° — 2y O] 2.2
£x + 50° + 20° = 140° — 2y

L Lx+ Ly =T0°
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(PEF + /PFE + /EPF = 180°
60° + 60° + /EPF = 180°
wt2tA ,EPF = 60° ©]tt.
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@ 50° @52° ® 54° @ 56°

® 58°

B

1z = 30° + 34° = 64°
Ly = 25° + 54° = 79°

Lx = 180° — (64° 4 79°) = 37°

L Lx+4 Ly— 7=3T°+T79° — 64° = 52°




